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ENGLISH VERSION

Instruction : Give answer to all questions.

1  Archana Manufacturing Co. manufactures readymade 20
cloths and whose work done in two department - Cutting
and Sewing. Both Cutting and Sewing department gives
their report to Production Manager. Production Manager
with manager gives their report to Manufacturing Director.
Sales Manager, Advertising Manager and Credit Department
give their report to Marketing Director and he with
Manufacturing Director gives their report to Managing
Director. The following information found from companies
account books.

Particulars Budgetary | Actual
Expected (Rs.)
(Rs.)
Cloth used 31,000 36,000
Advertisement 4,000 4,000
Audit Fee 7,500 7,500
Credit Report 1,200 1,100
Travelling Expense of Sales Officer 9,000 11,200
Sales commission 7,000 8,000
Wages- Cutting 6,000 5,850
Thread 500 550
Wages- Sewing 17,000 18,500
Salary - Credit Department 8,000 8,000
Other expenses of cutting 800 650
Other expenses of Sewing 900 1,050
Salary and administrative expenses
of Marketing Director’ 21,400 20,000
Expenses of Production Engineer 12,200 13,000
Expenses of Sales Management 15,700 16,000
Expenses of Production Manager 18,000 17,000
Salary and expenses of
Manufacturing Director 21,000 22,800
Suspicious debtors loss 5,000 3,000

From the above information prepare responsibility accounts
for the Marketing Director, Manufacturing Director and
Production Manager.

OR
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Find out the missing information from the below table. 20

Particulars Department | Department| Department
A B C
Sales 60,000 75,000 1,00,000
Operating Income ? 25,000 ?
Operating Assets
(Capital Investment) 30,000 ? 50,000
ROI
(Return on Investment) 15% 10% 20%
Minimum necessary
rate of return 10% ? ?
Rest Income RI ? 5,000

Atulbhai of Rajkot recently working with 80% production 20

capacity of his factory and whole production supplies to

Gujarat Government under fixed contract.

Atulbhai gives his product to government at Rs.4,00,000 and

gets profit @20% on sales. Per unit direct cost is fixed.

Expectation for indirect cost is as under

Indirect 80% capacity | 90% capacity | 100% capacity
Cost (20,000 units) | (22,500 units) | (25,000 units)
Variable 80,000 90,000 1,00,000
Semi variable 40,000 42,500 45,000
Fix 80,000 80,000 80,000

Shri Atulbhai gets export order of 20% of current production.

Extra packing charge is expected to Rs.1,000. Decide the

product price of export order in such a way that he gets

10% profit on product export price.
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(@)

(b)

A company made its production through its two
departments. Product prepared by Department-1 is
use by Department-2 and then prepare final product.
Final product is selling into the market at Rs.450.
The production capacity of Department-1 is 3,000 units
and all the production are purchase by Department-2.
Depreciation and other cost increased due to new
machine are introduced in Department-1. So, now
Department-1 wish to sell its product to Department-2
at increased price at Rs.250. Department-2 can purchase
the same product at Rs.230 from' market. Per unit
variable cost is Rs.210 and fixed cost is Rs.30 for
Department-1. Per unit production variable cost of
Department-2 is Rs.180, in which cost purchase price of
Department-1 is not included.

Suggest company will transfer its production between
its departments at this price?

From the following details, find out the transfer price:
Investments in fixed assets....cc..ccoeeeuuneee.e. Rs.10,00,000
Investments 1n current assets .................. Rs.10,00,000
Estimated production ................... 10,000 units annual
Fixed COSt oo Rs.8,00,000
Variable cost per unit ...............oooviiiiiiiiiiiiiiinnnn.. Rs.20
Expected return ...........cccooooiiiiiiiiiii e 25%

Star Gold product passes through three processes.
Information related to March-2016 is as under :

10

10

15

Particulars Process | Process | Process | Finished

1 2 3 Stock

Opening Stock 5,000 8,000 10,000 | 20,000

Direct Material 40,000 | 12,000 | 15,000 -
Direct Wages 35,000 | 40,000 | 35,000 -
Factory Overhead 20,000 | 24,000 | 20,000 -

Closing Stock 10,000 | 4,000 15,000 | 30,000

Profit on transfer cost 25% 20% 10% -

Inter process profit for
opening stock -- 1,395 2,690 6,534
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Stock in each process is valued at prime cost and finished
stock has been valued at price at which it is received
from process-3. Sales during the month was Rs.4,00,000.
Prepare :

(1) Process account showing profit at each stage.

(2) Statement showing actually realized profit.

OR

Following is the balancesheet of Shailesh Co. Ltd as on 15
31-3-2015 :
Liabilities Amount (Rs) | Assets Amount (Rs)
Equity Share Fixed Assets 6,00,000

Capital 5,00,000 | Stock 1,00,000
Reserve 2,00,000 | Debtors 2,00,000
Mortgage Loan 2,00,000 | Cash-Bank 1,00,000
Creditors 1,00,000

10,00,000 10,00,000

During year 2015-16, total purchase, sale and administrative
expenses were Rs.5,00,000, Rs.8,00,000 and Rs.1,00,000
respectively.
Calculate 10% depreciation on fixed assets. Rs.1,60,000 is
stock, Rs.2,50,000 1s debtors, Rs.1,20,000 1s creditors and
Rs.2,70,000 cash balance as on Dt. 31-3-2016.
Normal price base index is as follows :
Dt. 31-3-2015 - 400
Dt. 31-3-2016 - 600
Average of year 2015-16 - 480
From above information, prepare final accounts as per
Historical Cost Method and Current Purchase Power Method.
Write short note : (any three) 15

(1) Inter process profit

(2) Transfer pricing

(3) Steps to improve productivity
(4) Labour Productivity

(5) Inflation Accounting.
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